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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

It sometimes happens that a woman is handsomer at twenty-nine than she was ten years before;
and, generally speaking, if there has been neither ill health nor anxiety, it is a time of life at which
scarcely any charm is lost. It was so with Elizabeth, still the same handsome Miss Elliot that she
had begun to be thirteen years ago, and Sir Walter might be excused, therefore, in forgetting her
age, or, at least, be deemed only half a fool, for thinking himself and Elizabeth as blooming as
ever, amidst the wreck of the good looks of everybody else; for he could plainly see how old all the
rest of his family and acquaintance were growing. Anne haggard, Mary coarse, every face in the
neighbourhood worsting, and the rapid increase of the crow's foot about Lady Russell's temples
had long been a distress to him.

1) Which word from the passage relates to the word beautiful or pretty?

A) Scarcely
B) Handsome
C) Rapid

D) Haggard

2) Who among the following options was Miss Elliot?

veavrese Tachofworld. In

C) Anne
D) Elizabeth

3) Who noticed Miss Elliot's beauty?

A) Anne

B) Mary

C) Sir Walter
D) Lady Russell

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

4) When did Miss Elliot begin to be beautiful?

A) Fifteen years ago
B) Thirteen years ago
C) In the present

D) Ten years ago

5) At what age does one have neither ill-health nor anxiety?

A) Ten years

B) Twenty nine years
C) Fifty nine years

D) Nineteen years

6) Which of the following is a correct sentence with respect to use of words: desert or dessert

A) A desert makes a good meal complete. Te Ch OfWO rI d § I n

B) To dessert your ship is a crime.
C) Life in a desert is harsh.

D) Camels can be very useful in a dessert.

7) The phrase "flare up" means

A) to be strong and stout

B) to affirm your connection with somebody
C) to repair the damage
D) to suddenly burn more strongly

8) Fill in the blank with correct prefix or suffix:

Free of speech is a very important part of democracy.

A) dom
B) ness
C) ship
D) some
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Set Id : 62325_19 BATCH2_D.ELED Odia_09NOV202(

9) Which of the following words is correctly spelt?

s Techofworld.In
C) privilege
D) privillage

10) Which of the following alternatives explains the phrasal verb "flounder around"?

A) to acknowledge to move or get somewhere because it is easy

B) to struggle to move or get somewhere because it is difficult
C) to search for the truth in every direction

D) to search for something which has never been found
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Section 2 - Paperl-Education and General Awareness
No. of Questions: 5

11) Which of the following living organisms will have the maximum concentration of pesticides in a
food chain?

A) Plants
B) Fox
C) Lion
D) Goat

11) a1y garesa FINYR e1eegAIRe ARIQ 6edTER adide evriees AIGS! &N ?

o .. 1echofworld.In

C) &e
D) sa®

12) Who was the president of Interim government which was formed in 19467?

A) Clement Attlee

B) Jawaharlal Nehru

C) Muhammad Ali Jinnah
D) Lord Wavell

12) ey 9 adelea 906 AUIRS! A0RIQR ANAE @4 ZJEm ?

A) 6QSTS 2TER

B) S9IRI0RIR 63629
C) f2aQ AR RQI

D) 9 6gseR

13) One of the regional colleges of education established by National Institute of Education (Delhi),
is located in -

A) Ajmer
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B) Assam
C) Sambalpur
D) Chennai

13) f101a 801 g6aIR (AQY) QeI 9586 APede 38l ARAIFMILAIFR ARIQ 6aITY Y0IER 2970 -

A) 2ie6aa
B) ziaIn
C) @7
D) 6991@

14) According to the MHRD Annual Report (2006-2007), women enrolment to universities was the
highest in

soeninek Techofworld.In

C) Maharashtra
D) Kerala

14) 9A4Q 2IQ & @ @ifie deald (9009-9009) agaiat, MORNQ FGMILAR NRNIR° AINCAH AT Al

A) Gq1/4821Q)
B) @die@

C) aeiig

D) 6a6%

15) The curriculum for elementary and secondary education will ensure that there will be no hard
separation of

A) vocational and academic streams
B) curricular and curricular goals

C) syllabus and curricular goals

D) curricular goals and assessments

15) 9IQAQ e aifie 40l ol Al0IRA RAE Q6a 64 126R 12Ie 28 Al 08e QIF

A) ¥RI99% 6§91 6310
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B) CIOYRA1 G QAIOIRA A TeCh OfWO rI d 2 I n

C) QIO B QIOIRE ASY

D) aioiga ey 6 FRUISR
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Section 3 - Paperl-Reasoning
No. of Questions: 5

16) P, Q, R, S and T are five kids sitting in a circular table. R is sitting to the immediate left of T and
P is sitting between S and T. T is sitting between

A)R &Q
B)R&S
C)P&R
D)P&S

16) P, Q, R, S w& T 4I'G 24 Gal ¥e QRIRIQ s59asa @B | R, T @ gas oin ajea «dd wer P, S ver T AG6Q oda
| T 92 QR S6I9° al6a @aa

MrRea Tachofworld.In

B) R49e° S
C)P9e°R
D)P9e° S

17) In a certain code language, if the word ROSE is coded as URVH, then how will the word URVH
be coded in that language?

A) ESOR
B) ROSE
C) XUYK
D) UHVR

17) 4@ 5da caie aimica, 9@ ROSE @@ URVH aiese 6qi@ 62108, 6662 URVH 6ot Q 622 aiaica 20d 60l @Al 09 2

A) ESOR
B) ROSE
C) XUYK
D) UHVR

18) In the following questions, mark:

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

Set Id : 62325_19 BATCH2_D.ELED Odia_09NOV2020

1, if statement | alone is sufficient to answer the problem.

2, if statement |l alone is sufficient to answer the problem.

3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

A company decided to increase the cost of its keyboards by 10%. What was the price of the
keyboard?

I. The cost of keyboard and mouse together was ¥1840.

II. 10% increase in the price of the keyboard results in an increase of ¥520.
A)
B

1+ Techofworld.In

C)3
D) 4

18) FINYL ggesesa 636 @aq :
2. 96 YA€ | anaie AV 6eeig Acaa 26T |

9. 9@ YA€ Il ¥gFal anavia AR celg Acea 26T |
q. 96 Q4 | v || anag ¥QI0 FEIDS 6060 ANAIQ ARA 6291 IS AYF 26S |

¥. 96 QR4 | ve || anag ¥eId S2Ide 6060 & anAle AAQ 6ae! It adug Q6< |

Q@ QAR 92IQ YIEITQ RN R 0% 9F @ORIg AE0 6RAR | AIERITR AN 6966 BRI ?
l. @169i€ 9o A1Rq 9QGa gy T eryo 8l

Il. 16916 QRuea eo% @8 @8 X 890 @FaN |

A) ®
B) ¢
c)m
D) ¥

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

Set Id : 62325_19 BATCH2_D.ELED Odia_09NOV2020

19) Sankarlal walks 7 km towards north and then takes a left turn and walks 5 km. Then he again

takes a left turn and walks 15 km. Then he again takes a left turn and walks 5 km. What is the
distance between the initial and the final point?

19) aconin QAR 2eg © FCAIRCA SRR I GITER QIA 6AIP 670 8 FCAITCA SRR | FIT6R 6 Q8 @ QA 6AIC 67Q °8
F6RIFeR QIR | GIT6R 6d Y8 Q1N 6AIG 69 8 FERAINCA SIR6R | QINAR 1 UGN FQ AWMER YAV 6966 ?

* Techofworld.In

A)

B) ¢9
C) es
D) 99

D D
9

D)
o)

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

A student purchased 9 notebooks and 3 pens for ¥ 200. Another student has ¥ 400 with him. Can
he purchase 12 notebooks and 12 pens?

I. The cost of 7 notebooks and 5 pens is ¥ 200.
Il. The cost of 18 notebooks and 6 pens is T 400.

A) 1
B) 2
C)3
D) 4

20) FIRNYS 9995960 530 @09 :
2. 9@ YA€ | anavia AR s29Ig A62a 26T |
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9. 26 QA4 Il ¥gFal anie QAR 6e9Ig Acaa 26T |
q. 98 94 | ve |l aeag ¥Id F2IDe 6669 ANAYIQ RVQA 629! I AU 266 |

¥. 90 QR4 | e |l anag 1eI0 FaIde 6060 | AN VAR 69a! aIF g 96 |

268 819 T 900 6a ¢ & 6RIEQR Y& N & ean AT | 204 IR 219 aiea T Yoo 2T 1 Q'S 6Q 29 T 6RICER IS 09 § QN &
a6 ?

l. 9 ¢ 6lcQR 9e* 8 S e a4 T 900 |

Il. er G 6n109R e 9 & eana ga T ¥oo |
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Which of the following stands true as goal of existentialism?

A) Education must lead to value building
B) Education must lead to appreciating nature as supreme

C) Education must create opportunity for free, ethical choices
D) Education must celebrate the ideas of mind

21) 23Q919Q IR VIR FIAYE MUQ 624 MNIQE 297

A) 381 QRIEQNRIQ AICAR 62 2R
B) 8419964 Q6SIQ 6QIR GEral R AR
C) qia4l, 650 aae QI 891 96 NER AT Q] *EQ RQR

D) aai 840 aiesa ara Saligig alee FAR Zieaie

22) Teaching conducted in a way the students get an opportunity to explore the natural surroundings

around school and discuss with parents. Which of the following statements is true in this reference?
Learning in this case happens in

g; :fr?cs)uonnc;?ngs only Te C h OfWO rI d = I n

C) class, surroundings and home
D) home only

22) a919ie 908 62102 6208 JaIINEe AL 6QIAER 2Rl GIRER 086Raq AQARR 28I IS FGINICINIRE ARG SR

QAQIQ Q6QIG AIRAIFI | 9 AEER FYAYO AIQ 6RNE A0Y 266 ? @ 6806 Sl 6Q 612N |

A) 629 6gen

B) 6@9® 0Q6Q4

C) 69611, adead 1&* aa
D) 6ae% a9

23) Providing religious education in government institutions is
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A) compulsory

B) constitutional
C) secular

D) unconstitutional

23) AARIQ1 AGQAINER ¢ A 623 6208

A) QRIGIRSR
B) arduige
C) uddasane!
D) 2ardu@ae

24) What was the major outcome of the New Education Policy introduced by the Rajiv Gandhi
Government in 19867

A) Universalization of elementary education Te Ch OfWO rl d a I n

B) Large-scale participation of the private sector in education
C) Establishment of new universities

D) Mid-day meal scheme

24) e ¢T 9 60 QIRIR CI ARIOS QIS JRFE 00 Jal F16Q Qa TNTL '6 g ?

A) QIER aaia 1e1eed

B) S5 6896 6920RIA1 6969 Q26 2AFRE
C) qoe sgaaueagGes goal

D) f1IIg 69I9% 6AIS%)

25) There are various factors that cause individual differences among children. Which of the following
is NOT a factor causing individual differences?

A) Colour

B) Heredity

C) Environment

D) Education
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25) Gaiies ariea 43ARRR aIdey 98 8ag 108 688 | AQAYE MIQ 69T 1RCRIRIR aIdey 98 @QaRl Qe Q6S?

A) oa
B) 4
C) 9@eaq
D) aal

26) Which of the following indicate the full forms of 1Q, EQ and SQ respectively?

A) Intelligence Quotient, Emergency Quotient, Social Quotient

B) Imagination Quotient, Emotional Quotient, Social Quotient

C) lterative Quotient, Evocative Quotient, Self reliance Quotient

D) Intelligence Quotient, Emotional Quotient and Spiritual Quotient

26) S9RYe MIQ 6RUT RIQEN ZINQY, QY I IAQY @ A QA Qad?

A) S66R69Q QETE, IAREHR QETE, 6AdR QEXTE Te C h OfWO rI d a I n
B) SMIFERAR QTS A6AIRRNIA QETE, 6aIER QETE

C) 5950 QETE, QEAIAEN QEXTT, 637 6aRIR QTS

D) 6SRGES QEXE, QEAIARIA QETE 8 AR QETS

27) The teacher is teaching some facts and wants the students to memorise those facts. Which of

the following techniques may be used by the teacher to ensure maximum memorisation among the
students?

A) Lectures and discussion

B) Drill, practice, repetition and reward
C) Cooperation and collaboration
D) Videos and graphics

27) d8e @8 o2y 48l 62085 Y& QLad 64 2196 632 02gPQ o @0 BIRAINS FRIER ATRIR goaQ IR0 *Fdl Al d8e
609 A9AYE 6TI9RY QueIa @GaIeE ?

A) ZRIGRI <6° ZEASR
B) &a, zisuia, gRAIQA e geaua

C) agsaia (6R16U6QER) e aesaia (6QINIQERIR)
D) Qa6 9o gIge
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28) Select the classroom which shows us how Translation Method differs from Multilingual Pedagogy

A) Teacher X writes the words on the board and then writes the meanings in Hindi, Teacher Y
asks their language equivalents for things then gives the English word.

B) Teacher X reads a story and tells the summary in Hindi, Teacher Y reads a story sentence by
sentence first in English then in Hindi. In the end he summaries in both languages.

C) Teacher X gives instructions in Hindi and the task is done in English. Teacher Y gives

instructions in English and the task is done in any language that the children are comfortable
with.

D) Teacher X writes everything in English but explains in Hindi. Teacher Y asks children to do
group work in Hindi because she is too tired.

28) 622 @A 09 @0 QIR AFAIQ 08F LIS SAAIY 0IQ FAd &g o1Rl @dId

A)  38e X 691660 92 6R¢3 1e° 61'aca 2d 20160 6993, 480 Y 62AIRS ISl AR AAIR §84 AQ03 CI06R IR 8 723 |

B) adse X 9@ Qa1 008 e 306a QIRIQ Aora 928, dse Y g926a QIoiaiR) geoi@ QI @ eraieiea RS 9Q° claea

20160 003 | 6686Q 6a ARG AITIER RIRIEQ aiarde FAS |

C) aae X 2eta feda 95 v QIINE raieien RQE 1380 Y eraieica feda 28 e danies aid aee 62RYQ| aIsica

QAIEQ QA3 |

D) dse X eraieiee 29@8 caud @9 20160 il @a3 | 8@ Y danieg 22160 6aI9! QY @5IQ Q28 Q104 6Q 2GRS 2@
RSeS|

29) According to the UGC, which of the following is NOT a major issue in higher education?

A) Civilization of students Te - h OfWO rI d . l N

B) Financing and management
C) Reorientation of programmes
D) The assessment of institutions

29) 963 2QAIA, FINYE AU 69T A AT 6AGER IR YN YAT Q6L ?

A) 8198191 21910 F]C!
B) 218ie 8 aG0IRQ!

C) QIdigna geaigd
D) a°aig@ea aIee

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

30) A teacher motivates the students to focus on facts and allows them to do careful analysis and
thinking. Which of the following skills is the teacher promoting?

A) Discussion

B) Creative thinking
C) Critical thinking
D) Memorisation

30) @6a AR VRAING A QAR UL QR AACQ QY U ¥ 6ANRG AR ARE I64VE I Tl RAIQ AN
QUS| AIARRER FYRYE RFFER RIQ 6RAT 69IAIRE RQ83 ?

A) ZERISR!

e Techofworld.In

C) f2qgd Sswiel
D) aseadial
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) ,:4,4,6,8 —1g0q @ 04T QaIaNd?

A) a1d

B) 29

C) aaga

D) zsaioQi@

32) @500 u0a 9aQ 960 MeQe 4e0Q aia |

A) 986,
B) 2ead
C) zee!

D) zisag

33) 369)I9 AIQ 6RAE Y@ F6aTY AQ ?

nee [ echofworld.In

B) 68108
C) geat
D) sa

34) ‘ae’ qea dadoideoiue 640G QI8 |

A) Qira
B) @ag
C) oqqie
D) g2

35) QI d8% QAQ 902 62I0S?
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A) Qa+@
B) q+a@
C) qr+ai@
D) Qia+ai@

36) '@’ 9@ @ gRIQ SR ¥&?

A) @Qlg
B) QI0Qy
C) enige
D) aida

37) ‘aeie’ Q0adgs Ie6a 609 AIQ MR FAIAIRE ?

< Techofworld.In

C)%
D) @

38) ‘2ane da9’ 2d I8 @QaRI QP Fg1a |

A) ASI6Q 2649
B) @4l @ aal
C) a<Iaig

D) Aai6 fse

39) ‘G1qia QIR QFa 28 Fqaa ea |

A) €156 ga!

B) Aiead @aal
C) @@ geIaal
D) faIe eHI@al
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40) Q68841 AQ QIR G, AQQ, A°BYI Q1 AAAUGQ I ?
A) gal

B) aQya

C) ced

D) Scaa

41) ‘2eq’ g0a QARG 996 QUS|

A) zael

B) @12

C) 6e°d

D) @ieaie@e

42) 624 AAIAEA LHIAICR UL JIALQEA Q4QZS §97?

v Tachofworld.In

C) &g
D) 9%

43) ‘080’ adea ‘Fu’ goin 6Q196Q 906 49Q QUS|

A) G2l
B) Gl
C) @aicl
D) eeical

44) Q3 601q RETACS LEAIRI AJQA 6L6M — OIEQ RETAES @ geIe gaI?

A) aqidel
B) aiaqida
C) vae

D) edld@
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45) ‘yer aea aaidsee 49 QIS |

gﬂwTeChoﬁNoﬂdln
Cyes
D) e
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) If 5 less than twice a number is 13, then what is the number?

A)7
B) 8
C)9
D) 10

46) 9@ T QIR 1 8 62QF M, 6669 T EREQ ?

A)7
B) 8
C)9
D) 10

47) If the ratio of the areas of 2 circles is 4:2, then what would be the ratio of their radii?

2 Techofworld.In
C) v2:1
D) 1:N2

47) 93 98 Q0 690090 2RO ¥ : 9 62ARAN, 606Q 6AAIRE MIATQ AQAIC 6960 621 ?

A) 2:1
B) 1:2
C) V2:1
D) 1:N2

48) Which of these number can be subtracted from 10,000, so that the remainder can be divisible by
32, 36, 48 and 547

A) 9136
B) 6533
C) 5188
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D) 4178

48) 1@ i auQ 6246 10,000 @ Fcaia *aIIRAIGR, ARITNER AIgcaa 32, 36, 48 e 54 Qi FaIPe 6210a1e ?

A) 9136
B) 6533
C) 5188
D) 4178

49) Nikhil lent ¥ 5,000 to Rahul for 3 years and ¥ 2,000 to Rohit for 4 years and received a simple
interest of ¥ 920 altogether. What is the rate of interest?

A) 3.5%
B) 4.0%
C) 4.2%
D) 5.0%

49) 3@ ageg M od aig T 5,000 e saiReg 4 od aidl T 2,000 seagsa e adsaie T 920 Qoo QM aIRg6R | 6669 86Q

QUQ LR 6R6Q ?

va% Techofworld.In
C) 4.2%

D) 5.0%

50) What is the solution of the system of linear equations x + 2y = 4 and 3x + 2y = 0?

A)x=-2andy=3
B)x=-2andy=-3
C)x=3andy=2
D)x=3andy=-2

50) sa¢liee an1eeea 38A X + 2y = 4 9e* 3X + 2y = 00 QARIR 660 629 ?

A)x=-29e°y=3
B) x=-29¢°y=-3
C)x=39e°y=2
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D)x=39a°y=-2

51) A circle is inscribed in a triangle AABC. If AB =4 cm, BC =5 cm and AC = 3 cm, then what is
the area of the inscribed circle?

A) T sq. cm

B) /2 sq. cm
C) /4 sq. cm
D) 11/6 sq. cm

51) 9@ 90 e 89° AABC sa 2add@0 21081 2@ AB = 4 6afi, BC = 5 6afi ve* AC = 3 62, 6062 28830 900 68009
6@60 629 ?

A) 1T @d 6ad

B) 11/2 od ead
C) /4 ad ead
D) 11/6 «¢i ead

52) A number when divided by 16, 18 and 20 leaves a remainder 6 in each case, but is completely
divisible by 7. Which is the least such number?

e Techofworld.In
C) 4888
D) 5046

52) sa1e eyl 69606969 16, 18 er 20 QI 308 29, 9604@ 68060 NI6aa 6 alan, 8 1ol 7 Qa1 g4 aISe 941 6a0ad
QIR U 6QGE ?

53) A computer which is purchased at ¥ 15,000 is sold at ¥ 10,000. What is the percentage of loss
incurred?

A) 33.33%
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B) 38.75%
C) 41.00%
D) 42.45%

53) T 15,000 sa faiaineel v eayea T 10,000 6a 33 291 6069 960 90901 6960 62108 ?

A) 33.33%
B) 38.75%
C) 41.00%
D) 42.45%

54) What is the compound ratio of 5:6, 7:8 and 15:167?

o Techofworld.In

C) 175:256
D) 175:265

54) 5: 6, 7: 8 9e* 15:16 @ 6216@ 210 6260 ?

A) 275:256
B) 175:250
C) 175:256
D) 175:265

55) Which of the following is an infinite set?

A) Set of divisors of 12

B) Set of prime numbers between 1 and 100
C) Set of real numbers between 1 and 2

D) Set of prime divisors of 24

55) GqRge nuQ 606s 6208 e AN 696 ?

A) 12 @ 39I9es 626
B) 1 @ 100 auea 6AIG@ eyl 6Q¢

C) 1 @ 2 aucq QIYR Tagiea 68
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D) 24 & ga SQReIINIREa 626

56) Three of the following four are perfect squares. Which is the odd one among the following: 2,401
3,969, 6,889 and 7,202 ?

A) 2,401

B) 3,969

C) 6,889

D) 7,202

56) 79Rge Q6aId A F6IE 6208 Tgd @4 | FYAYE NUQ 64T 6248 &q: 2,401, 3,969, 6,889 we 7,202 2

A) 2,401
B) 3,969
C) 6,889
D) 7,202

57) What is the maximum possible area of the triangle that can be inscribed in a semicircle of area
8m?

peser Techofworld.In

C)10sqg.cm
D) 16 sg. cm

57) 811 sagae 39 1@ A6Q0IRIQ 6996 TR 6260 659TL R98 S99 reR *QAIRAAS ?

A) 8 ad 6ad

B) 9 ad 6af

C) 10 odi 6ad
)

D) 16 @4 sad

58) Cost of 3 chairs is same as the cost of 2 tables which is same as the cost of a TV stand. If the
cost of TV stand is ¥ 18,000, then what is the cost of 4 chairs and 3 tables?

A) ¥ 36,000

B) ¥ 44,000

C) 51,000
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VUL I L VeVEeY T DALIUVIIL . LLLL Uulda_VUZINU Y LuLu

D) ¥ 54,000

58) 3 ¢ 6010 a1 28 66900 ORI 226 AAIR ARl §& SI9Q e A86 anIR | @ 88 91Iga g T 18,000 24, 6062 4 & soaR
e 36 6590 RN 6960 629 ?

A) % 36,000
B) % 44,000
C) % 51,000
D) % 54,000

59) A= {x | x is a positive multiple of 3 less than 100} and B= {x | x is a prime number less than 20}.
Then n(A) + n(B) and n (A N B) respectively are

A) 41 and 1
B) 42 and 1
C)41and 2
D) 42 and 2

59) A= {x | x 6208 1@ g gdoe al 100qQ 3 e} 9Q° B= {x | X c20f e 67de ey al 20Q @} 16069 N(A) +
n(B) 9<° n (A N B) caigen 2ad

s eer Techofworld.In

C)41 e 2
D) 42 «er 2

60) How many positive integers below 1,000 are both perfect squares as well as perfect cubes?

A) 0
B) 1
C)2
D)3

60) 1,000 @ @0 626018 g 94 el eaa g4 od Y& T4 4R 266 ?

A) O
B) 1
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) The warmest layer of the Earth's atmosphere is

A) Mesosphere
B) Troposphere
C) Stratosphere
D) Thermosphere

61) gaeia QIgAERa A90IQ 2F 90 6208

A) saca@aQ
B) g6Q18aQ
C) 8165139
D) 2661139

62) Which layer of the Earth's atmosphere is suitable for placing Satellites?

A) Mesosphere T h fW I d I
B) Stratosphere eC O Or a n
C) Exosphere

D) Troposphere

62) 9AQIR QIYALRR 626 IQ ACCARG QYR AN RAYS?

A) 606QI39Q
B) q160@9Q
C) 169139
D) gsaidaa

63) Which article states 'that there shall be a provision for free and compulsory education for
children'?

A) Art 44
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B) Art 45
C) Art 42
D) Art 43

Whatsapp/Call- 8596976190

63) 6ad 2QQe16a QRINIAE 60 ‘GRIAIRG AIR AIGEI I&* ARIVIYLR ATIQ Mg 8’ ?

A) 28961 ¥
B) 22991 ¥8
C) 28961 ¥9
D) 29961 ¥M

64) Who wrote Harshacharita, a biography of Indian emperor Harshavardhana?

v Techofworld.In
C) Banabhatta
D) Dantidurga

64) QIQG1A A7IC 2EINAT F19R1 2TAS @4 6AYLT?

A) gqiQl

B) gariQl
C) ciees
D) @i@gel

65) The EI Nino climate cycle starts from which of the following options?

A) South American Coast
B) Mediterranean Coast
C) Chinese Coast

D) African Coast

65) GqRge Feeqde Auq 6edoisa El F6rl 90919 01 20 2972

A) @86 26ARRIA QAQR
B) 9AxQIea1a aaqe
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C) S1asl aage
D) 2gel 20qR

66) The giant rocky slabs that make up the Earth's crust are known as

A) Tectonic Plates
B) Faults

C) Avalanche

D) Batholith

66) JQ1Q PR} I8 QQYQI TR AR UYL FEIG4

oo Techofworld.In
C) gaieaie
D) Qieaime|

67) In 1989, a Committee that recommended constitutional recognition for local government bodies
was

A) A K Mehta Committee

B) Lyndongh Committee

C) Shah Committee

D) PK Thungon Committee

67) ecre 69, 9@ 286 a9l ¢I91a QRN YR AAIRS AQE A1 gaIGa *F2R

A) 6@ 676261 @FF
B) Meaia ¢4E

C) dl2l edc

D) 4 6@ 2@e @48

68) Who is the ex-offico Chairman of the Rajya Sabha?

A) Prime Minister
B) Council of Ministers
C) President
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D) Vice President

68) cieuaeia gae 2Ie @972

A) Quieqa
B) 781 208

C) uea&
D) @oaigad

69) Around which of the following dates, India experiences the shortest day of the year and the
longest night?

A) 23rd March

B) 21st June

C) 22nd December

D) 23rd September

69) G9fgo 64 0I0H6R NGO Ad6R AQVIQ 6816 AR I 9C QIS AR 6QANAN ?

v Techofworld.In

C) 99 Geana
D) 9% 626QAQ

70) General Dyer was shot dead by who among the following revolutionaries?

A) V'V S lyer

B) Soham Singh
C) Hasrat Mohani
D) Udham Singh

70) FQRYe FRINIRE AUQ &4 6R6RAIN QKA IR @8 204 @586 ?

A) § & wa uae
B) eqieq @
C) 29@i6 6aIR1?
D) @@ &2
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71) A small blade of flint or similar stone, which when hafted into a wooden handle would make a

tool, especially found in the Mesolithic Period. This tool was known as

A) Nanolith
B) Microlith
C) Macrolith
D) Megalith

71) @& QI QAR AAAQ IR 681G 69K, 6IERERAER YR QIO VICANEA VUL, FAUAN 9@ ARIF T2 *AL,

F68968 6716AIRAR ANUIAER | 9T AARAEIT SEIGE

A) qieaiRe]
B) qieegqiael
C) qieqime|
D) saqi@el

72) The outbreak of Minamata disease in Japan in 1953-60 was due to

g; ::(:cfrl:y contaminated fish TeCh OfWO rI d ™ I N

C) zinc contaminated chicken
D) lead contaminated chicken

72) e ¢8m-90 Adelea KIAIRER ARIAIG] 6Q10Q QAR 921 AR

A) 99 9986 Aig
B) 9I¢ ¢

C) @« 9980 Seae
D) @1l gQ8e Seae

73) What does the terminology Lame-Duck session refer to?

A) The last session of the existing Lok Sabha
B) MPs who do not get re-elected

C) Rajya Sabha has only less than 20 MPs in any session
D) Lok Sabha has less than 50 MPs in any session
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73) 6R0-0@ UYERIR 40 Q'€ Q&I ?

A) FNAIR QI CAIRANR 68 AYEIER

B) Qra@ 6awAier gedia 460 gus /R

C) 6@ 6Q16Q YEIIRER QINIANIER AIG 90 Q RN APAR 023
D) 64 67161 ZYELIRER 6RAIRANIER AIG B0 Q @A APAR 023

74) The river in India that crosses the Tropic of Cancer twice is

A) Narmada
B) Godavari
C) Mahi

D) Ganga

74) Q106 9@ 91 AI2l QR K4 QI3 2GRS AN

»ew | €chofworld.In

B) salaiea
C) a2
D) &

75) Which act was described by Nehru as 'Charter of Slavery'?

A) Govt.of India Act of 1919
B) Govt.of India Act of 1935
C) Regulating Act 1773

D) Pitt's India Act

75) 6262Q 602 295009 ‘QIA9a 2JQI0Q’ NAFEA AR *AYER ?

A) 2CeC QQIAe AARGE AR
B) e¢M8 Q QGG ANRINS AYFAA
C) 2890 @aa e99m

D) de adal a1Q
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following is the nature of the solution after electrolysis of CuSOa takes place
using Pt electrodes?

A) Acidic due to formation of H2SO4
B) Acidic due to formation of H2SO3

C) Basic due to formation of Cu(OH)2
D) Neutral

76) Pt asasgie @4eeia @8 CuSO4 & asR6inIada asa qRge AUQ 666 AnRING g]e ?

A) H2S04 609 62Q an

s msonsnsease 1 €CHOTWOTld. IN

C) Cu(OH)2610% 62¢ 62@)
D) #esaa

77) Which of the following compounds can sublime at room temperature?

A) Ammonium Chloride
B) Camphor

C) Sodium Chloride

D) Sugar

77) G6qI9 6313 ARIQ 6R6E 621081 QIAAIRIER RS 6ARAER ?

A) iEAIRan 6qiaIae

)
B) [ (Y45
C) 61296 6QQI9Q
D) 6%

78) Motion is defined as

A) change in mass of an object over time
B) change in time and distance
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C) change in position of an object over time
D) change in speed over time

78) 9% Q ARV 62

A) 6915 9gQ 2R AN G6A AARRR 624
B) aqa wa° geea adees 624!

C) aag 9691 99Q AWGER AR 624

D) an1a 9691 gQ 6996Q ARRR 629!

79) Which one of the following is associated with Lysome that have the ability to break down
macromolecules such as nucleic acids, proteins, and polysaccharides?

A) parasitic activity

B) presence of food vacuole
C) catalytic activity

D) hydrolytic activity

79) G9fge AUQ 6R9E AIRERIN ARG 9E0, AIRIR TR 13e, 6915 Y& ARARIRIRES OB AIERICAINIFR ATIQ BAGI 0RF ?

A) 96@1e1 QIdiaaia T h fW l d I

B) 6016? gRigina @age e C O O r . n
C) eI Qidieaia

D) 2ie6@IRada adieaia

80) Colchicum autumnale is a colchicine yielding monocot plant, the type of stem modification found
is

A) Runner

B) Corm

C) Bulb

D) Tuber

80) cRIEan ACNRIER 6208 IR RINGAAR QYRR FQAR 6AIERIRE A8, AQIYRI 687 AFRERR IR 6208

A) 889
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B) a4
C) e
D) §4eQ

81) Which among the following intermediate is formed in the reaction when phenol is treated with
CHCl3 in presence of NaOH?

A) CHCIy

B) CCly

C) ICC|2

D) CH(OH):

81) NaOH a @agésa CHCI3 226 6a6ia Q4e2ia @ideicase golaisa Sgage AuQ 694 ereaficae § 98 24?

v Techofworld.In

C) iCC|2
D) CH(OH):

82) What will be the change in density of the gas if the pressure increases four fold at constant mass
and temperature?

A) Density decreases four fold
B) Density increases two fold
C) Density increases four fold
D) Density decreases two fold

82) @niee 6Re I GIAAIgIEa 99 QA QG g8 QEAN 606Q AUIAR ARQYER @4 9GLSR 629 ?

A) 996 98 ga @
B) 296l 28Q6 Q8 Q6
C) 9761 Q& g6 QF @6
D) 226! Q& Q8 @Aard

83) The work done on a object is independent of

A) force applied
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B) displacement
C) angle between force and displacement
D) intial velocity of the object

83) IR g QU6R Y8 UMY AILI0IQ IR 26T, GIL! 62R -

A) g6QIege aR

B) Qgiae

C) a@ 9e° A8 ARIY 6216
D) ega gio@e aasad

84) Tissue plasminogen activator is

A) a vitamin

meoen | @CHOTWOTld.IN

C) an activator
D) lipid

84) 59 qIefcRIeRs UK 6208

A) @ Se1de
B) 69169

C) 4@ agaiat
D) @de

85) Select the INCORRECT statements from the following:

A) The cisternae of Golgi complex are stacked together and are found as golgi stacks
B) The Golgi stacks has two faces a cis face and trans face

C) The Golgi complex consists of ribosomes and it helps in protein synthesis
D) The two faces are closely connected to a network of interconnected tubules

85) Aghde IQAGIGRR nug 6RES A0R 968 ol2l 090 ¢0g :

A) 661D Q€A 3941 9RQ VR 62IQ 99 VR AR AR
B) 691 URYCRQ AT Q¢ Y@ A 60620l Y& GIY 69620l
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C) SS9 Q651960 QURERISRIA Q@2 Ier 92l 69150 d6@TA6R AIRIL RER
D) 99 696201 994 Q@0 TYS FYIRQ IR 626¢IF 220 AT AR TYD

86) An inflorescence with involucre of bracts forming cup like structure is

A) Catkin

B) Cyathium
C) Spikelet

D) Vertticillaster

86) SIQQ A2C 2BRS 1@ YIYR @4 a8 §0r @ael TeeRI 26T
A) Quc@e

B) Qaiaaa

C) aa6aenq

D) e6aaiaq

87) What will be the formula of a solid compound if its unit cell is found to occupy with P ions at the
corners and Q ions are present at four of the face centres?

vea | @chofworld.In

B) P2Q
C) PQ2
D) P2Qs

87) 9@ a0r 6didea agal @'6 629 9@ 121 g6 6an 6aigea P 2108 a@o a2ara uer qad seesa Q zae aage an ?

A) PQ

B) P2Q
C) PQ2
D) P2Qs

88) A street side lamp post consumes 2200J of electricity energy in 15s. Calculate its power?

A) 110.5W
B) 146.6 W
C)225.3W
D) 250 W
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88) QII 7L 9@ Q31 ¢¢ 9T 155 6@ 2200) IYIS 6 HP A6 | IT §3Q AR AQ |

A) 1105 W
B) 146.6 W
C)225.3 W
D) 250 W

89) Nyctalopia can occur due to the deficiency of

A) Vitamin C
B) Vitamin K
C) Vitamin A
D) Vitamin B2

89) 12Ia 2RI AN FIRRIEAIGEI 62QAER

oo Techofworld.In
C) deidie A
D) &eidie B2

D)

90) The ribosome type present in eukaryotic cell is

90) QaRIBEER 6RIE6R g9l AIRCRIERIA JRIR 6208

A) 80S
B) 70S

C) 55S
D) 30S
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1| B 31 A 61 | D
2D 32| B 62| C
¥ € 33| A 63| B
4B 34| C 64 | C
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7D 31 | C 67 | D
8| A 38| A 68 | D
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10 | B 40 | D 70:|-D
111 41 | D 71 | B
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14 | D 44 | B 74 | C
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16 | C 46 | C 76 | A
17| € 47 | C 77| B
18 | B 48 | A 78 | C
19 | A 49 | B 79 |'D
20| A 50 A 80 | B
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29 | A 591 A 89 | C
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